%*” 6 :H-;E_

frEFmERERAREXFISAHETRES




TH6EE MHETERBERAKREXFISFIFMETE (F15)

SHNOEEOMHTEREBRRKRBXFINSHELETE (F15) k. RIZTEHDHEIAHITL S,
(AL FEME)

F1E& BEOBRABREFEOMRIBICRARLETNENS, 545FHZEML. BRAREZTNTH
3, 473, 792FHLEED S,

2 BABRHFEOHENOREDNRASRUEZRASCLDEBELVICHERDOZARE FTEDOEEEIL.
1%k BMABEFEME] TL£5,

SHM6ES A3 1 HIZH

fgmk £ B =



F1R BABRHFPEME

[ A (BfE - FM)
N 15 WO WIELE &t

10. #8AS 267, 369 4, 545 271,914

| tastHEAS 267,368 4, 545 271,913

& A & 5 3,469, 247 4, 545 3,473,792




3

i H (B - FM)
N 5 BEFDEE WIELE &t

1. BRE 74, 171 4, 545 78,716

. REEEE 71,788 4, 545 76, 333

& H & 5 3, 469, 247 4, 545 3,473,792




m A m % E P HE F 1B A KA B =

w1
B A (Bf1 . FM)
R HIERTDER FHIEEE &t
10. #AE 2617, 369 4, 545 271,914
m A & § 3,469, 247 4,545 3,473,792




o

% tH (B )
# E % o B BE W R
ES FEIERTOD%E FHIEZE it ¥ iE Bt iR _ R
ERXHE o H & z D i -
1. W% E 14, 111 4,545 18,716 4,545
4 as] & i 3,469, 247 4,545 3,473,792 4,545




2 & A

() 10. A% (1) 1. thEitigAs (B : FH)
i
=} FHIERIDEE |8 1E %8 st X 4 i H] B
1. — St A s 267, 368 4 545 271,913 4. BEHXRSESZBEAR 4, 545 | N &
58,025 - 56, 440 = 1,585
EHE
20, 493 - 17,533 = 2,960
B 267, 368 4, 545 271,913
mASRE 3,469, 247 4 545( 3,473,792




3 & H
1 eBE @ 1 enEER (S FF)
REEOH R MR =
5 WENMOE® T @ € M R , ) % %
22| wrm | zop | HME| B S =
EIVA
1. —REEE 70, 455 4, 545 75, 000 4 545 aF 1, 112|885
28,213 - 27,101 = 1,112
BETLE|  20|FETH
1,158 - 1,176 = INE:
BTy
624 - 868 = AN244
REMF Y

11,605 - 11,115 = 490

ES T M BARER
9,137 - 8,892 = 245
e 2 16 ERRERRL A7 AREEBERN
2,594 - 132 = 2,462
TREEAE| G ERSEASARE (Vo) 498

B 71,788|  4,545| 76,333 4,545
HmEHEE 3,469, 247 4 545( 3,473,792 4 545




